

Name: Opoola Daniel Oluwaseyi

Matric No: 19/ENGO5/056

Mechatronics: Mechatronics Department

Date Submitted: 9th April 2020.

Assignment:

Find the Integral of the following:

1.)  $\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx$

$(x-1)(x-2)(x-3)$

Solution:

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx$$

$$\therefore \frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)}{(x-1)(x-2)(x-3)}$$

$$3x-1 = A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

When  $x-1=0$ , then  $x=1$

$$3(1)-1 = A(1-2)(1-3) + B(0)(1-3) + C(0)(1-2)$$

$$2 = A(-1)(-2) + B(0) + C(0)$$

$$2 = A(2)$$

$$A = \frac{2}{2} = 1$$

when  $x-2=0$

$$x=2$$

$$3(2)-1 = A(2-2)(2-3) + B(2-1)(2-3) + C(2-1)(2-2)$$

$$6-1 = A(0) + B(1)(-1) + C(0)$$

$$5 = B(-1)$$

$$B = \frac{5}{-1} = -5$$

when  $x-3=0$ ,  $x=3$

$$3(3) - 1 = A(3-2)(3-3) + B(3-1)(3-3) + C(3-1)(3-2)$$

$$8 = A(0) + B(0) + C(2)(1)$$

$$8 = 2C$$

$$C = 8/2 = 4$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} dx = \frac{1}{x-1} + \frac{-5}{x-2} + \frac{4}{x-3}$$

$$\begin{aligned} \therefore \int \frac{1}{x-1} + \int \frac{-5}{x-2} + \int \frac{4}{x-3} \\ = \ln(x-1) - 5\ln(x-2) + 4\ln(x-3) \end{aligned}$$

$$2) \int \frac{x^2+x+1}{(x+2)(x^2+1)} dx$$

$$\frac{x^2+x+1}{(x+2)(x^2+1)}$$

note  $x^2+1 = x^2+1^2 = (x+1)(x-1)$

$$\frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{B}{x^2+1}$$

$$\frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{A(x^2+1) + B(x+2)}{(x+2)(x^2+1)}$$

$$x^2+x+1 = A(x^2+1) + B(x+2)$$

when  $x+2=0$  then  $x=-2$

$$(-2)^2 + (-2) + 1 = A((-2)^2 + 1) + B(-2+2)$$

$$A - 2 + 1 = A(5) + B(0)$$

$$3 = A(5)$$

$$A = 3/5$$

$$3) \int \frac{x^2 + 1}{(x-3)(x-2)^2}$$

$$\frac{x^2 + 1}{(x-3)(x-2)^2} = \frac{A(x-2)^2 + B(x-2)(x-3) + C(x-3)}{(x-3)(x-2)^2}$$

$$x^2 + 1 = A(x-2)^2 + B(x-2)(x-3) + C(x-3)$$

$$x^2 + 1 = A(x^2 - 4x + 4) + B(x^2 - 3x - 2x + 6) + C(x-3)$$

$$x^2 + 1 = A(x^2 - 4x + 4) + B(x^2 - 5x + 6) + C(x-3)$$

$$x^2 + 1 = Ax^2 - 4Ax + 4A + Bx^2 - 5Bx + 6B + Cx - 3C$$

$$x^2 + 1 = x^2(A+B) + x(-4A - 5B + C) + (4A + 6B - 3C)$$

$$A + B = 1 \quad \text{--- (1)}$$

$$-4A - 5B + C = 0 \quad \text{--- (2)}$$

$$4A + 6B - 3C = 1 \quad \text{--- (3)}$$

$$0 = -4A - 5B + C$$

$$-C = -4A - 5B$$

$$C = 4A + 5B \quad \text{--- (IV)}$$

$$1 = 4A + 6B - 3C$$

$$1 = 4A + 6B - 3(4A + 5B)$$

$$1 = 4A + 6B - 12A - 15B$$

$$1 = -8A - 9B \quad \text{--- (V)}$$

$$1 = -8A - 9B$$

$$-8 = -8A - 9B$$

$$-1 = -8A - 12B$$

$$-9 = 0 + 4B$$

$$-9 = 4B$$

$$B = \frac{-9}{4}$$

$$1 = A + B$$

$$1 = A - \frac{9}{4}$$

$$A = 1 + 9/4$$

$$A = 13/4$$

$$C = 4A + 5B$$

$$C = 4(13/4) + 5(9/4)$$

$$C = 13 - 45/4$$

$$C = 7/4$$

$$x^2 + 1 = \frac{13/4}{x(x-3)} + \frac{-9}{4(x-2)} + \frac{7}{4(x-2)}$$

$$\int \frac{x^2 + 1}{(x-3)(x-2)^2} dx = \int \frac{13}{4(x-3)} - \frac{9}{4(x-2)} + \frac{7}{4(x-2)} dx$$

$$= \frac{13}{4} \ln(x-3) - \frac{9}{4} \ln(x-2) + \int \frac{7}{4(x-2)} dx$$

$$= \frac{7}{4} \int \frac{1}{u^2} du \quad u = x-2$$
$$du/dx = 1 dx = 1 du$$

$$\frac{7}{4} \int u^{-2} du$$

$$\frac{7}{4} \frac{u^{-2+1}}{-2+1} + c = \frac{7u^{-1}}{-1} + c$$

$$= -\frac{7}{4} u^{-1} + c = -\frac{7}{4} (x-2)^{-1} + c$$

$$= 13/4 \ln(x-3) - 9/4 \ln(x-2) + 7/4 (x-2)^{-1} + c$$

$$A) \int \frac{x^3 + x^2 + x + 1}{x-1} dx$$

soln

$$\int \frac{x^3 + x^2 + x + 1}{x-1} dx$$

$$\begin{array}{r} x^2 + 2x + 3 \\ x-1 \overline{) x^3 + x^2 + x + 1} \\ \underline{- x^3 - x^2} \phantom{+ 1} \\ 2x^2 + x + 1 \end{array}$$

$$2x^2 + x + 1$$

$$\underline{2x^2 - 2x}$$

$$3x + 1$$

$$\underline{3x - 3}$$

4

$$\frac{x^3 + x^2 + x + 1}{x-1} = \frac{x^2 + 2x + 3 + 4}{x-1}$$

$$= \int \frac{x^2 + 2x + 3 + 4}{x-1} dx$$

$$= \frac{x^3}{3} + \frac{2x^2}{2} + 3x + 4 \ln(x-1) + c$$

$$= \frac{x^3}{3} + x^2 + 3x + 4 \ln(x-1) + c$$